Camco HP35B Single Pedal

No. = mAa BUOAMAE (BiiRMEAE)
1 |HP35B1 ZL—hL, 7=F95v7 - TyerTY— ¥5,500 (¥5,000)
1-1 |wss23 M8x23 T-HJ b ¥330 (¥300)
> |upassa X7 b TyvEYTY—(RTYVS, Tydr, MBE ¥2,750 (¥2,500)
Fv k)
2-1 |HP35B21 _RPYvY ¥880 (¥800)
2-2 |HP35B22 Tvvy ¥220 (¥200)
3 |HP35B3 27845y b ¥1,100 (¥1,000)
4 |upsssa l::-—é‘l —rh;»g_r‘— (M8x12 FEEH L b, M6x8 F—H—* ¥2,200 (¥2,000)
<. M4x8 45 ER)
4-1 [S812SH M8x12 fEEF L b ¥110 (¥100)
4-2 |s68 M6x8 F—Ra—% ¥110 (¥100)
4-3 [S408 M4x8 #3 £ X ¥220 (¥200)
Fr—y -PyvEr7V— (Fz—v, Fxz—rhn—,
5 |HP35B5 Frz—vRYMIFE, M3x12 45X, M3F+v b, & ¥1,430 (¥1,300)
v, Zyvaty b, M6x12 BRI L)
51 |MS612SH M6x12 fSEFIL b ¥110 (¥100)
52 [S312 M3x12 45 ER ¥165 (¥150)
5-3 |S312SHN M3x12 45 ER, Fv b ¥220 (¥200)
6 |HP35B6 Ay h—H LASSY ¥1,100 (¥1,000)
- lupassr 17”')‘/7-7'-/-!:‘/7:')—(7:/‘«11 [k /2 N = A4 Y880 (¥800)
Fyb Ty¥% FT¥xRbFYH)
7-1 |HP2-71 27V T&T v Y ¥440 (¥400)
S r— RFVYTaL + Ty TV—(AyIFy b Ty YT70 (¥700)
Y. TPx¥REFY )
7y b R=F7yer7YV—(597RAYF, 3Y97R
8 |HP35B8 By Ehrie. M5x8 45 ER) BEE/EEEL
8-1 |HP35B81 SYFTAAYF BEE/TEEEL
8-2 |HP35B82 FYTAAY Fh— BEE/TEERL
8-3 |S508 M5x8 £ R ¥220 (¥200)
9 |TTB30OF E—%— BEE/tEEEL




